Formation:

Hop Waltz:
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Couples 1n Varsouvienne position.

Slow, smooth step-hops to waltz time, (step ct. 1 hold ct 2,
hop ct 3) definite up and down movement.

Part I

Starting with R ft, both take one schottische step diagonally
fwd to R. ‘

Both schottische diagonally fwd to L.

Repeat schottische R and L. (M takes extra step 1nstead of hop
in last schottische step).

Schottische step away from partner (Man L, W Right) turning to
face partner on hop step.

Schottische back to partner.

Assume shoulder-waist position and do 4 step-hops, turning and
advancing. (M does 3 step~hops and 2 single steps).

Assume Varsouvienne position and repeat from beginning.

Part II

In shoulder waist position, dance 2 hop-waltz steps turning CW.
Separate, holding inside hands, with 1 hop-waltz away from partner,
1 hop-waltz back together.

Repeat hop-waltzes (meas. 1-=4).

Turn continuously with 8 hop-waltzes.

Repeat all of B. This time after 6 hop~-waltzes M turns L once
and a half under joined R hands to reassume Varsouvienne position

(McFall Syllabus 1971-1973)
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